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OJIA & EIIAE Sl 8,000
ONZAE 2 T2 R
200,000& * 53| 1,000
(OFal—2>PUN}=] 1,000,000& * 3= 3,000
MYJISEXEAE M= 21,125 20,930 195
206 M=l 21,125 20,930 195
01 M= bl 21,125 20,930 195
OMeISEHHelE A4S 16,425
- A3 200@ * 20kg * 90 360
-3 ZHA 58,000& * 502 2,900
-2 H A 59,000& * 503l 2,950
-ESUES 10,000& * 30X 300
—ASAZ(ERE) 42,0002 « 1454 6,090
“ASAF(HUE) 23,000 * 145¢ 3,335
M= 10,000& * 494 490
Ol & A 1,750,000& * 22| 3,500
O & AtH22|(E2EIH) 700,0008 * 14 700
O==cliCidl OtcH ¥ HIE 500,000& * 14 500
MYJISEXEAE B 132,000 154,000 A22,000
401 AIEHIZ 2 132,000 154,000 A22,000
01 Al&HI 132,000 154,000 222,000
OWHEXI| B 15,000,000& = 14 15,000
222 2 B+ 20,000,000& * 14 20,000
OZJ1d=4H B 6,000,000& = 14! 6,000
Oo&E&3de WAl 6,000,000& = 14l 6,000
OJIAH & HIIANE B 30,000
OoZg® wH 35,000,000& * 14 35,000
Ogls B 20,000,000& * 14 20,000
OrisAlE MEHH B3 102,200 142,541 A40,341
= 23,000
= 6,900
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SN e
X{ ZH -
S Tt

el

[
2

20
B
2

04 JIZHAI2 13,980 10,041 3,939
OOtME -
43,2809 * 3232 13,980
e 22| 36,100 22,400 13,700
= 17,000
[ 1,200
z 17,900
e 22 11,800 2,100 9,700
= 6.000
[ 1,200
= 4,600
BHZOtA Era 3,400 2,100 1,300
201 Yet2 % 2,400 1,100 1,300
01 AlRZ2IH| 1,900 600 1,300
Os AT | 1,900
AN aaE 100,008 * 4% 400
ot | I &)t 30,0008 * 5004 1,500
02 ZZ2gH| 500 500 0
OATEFY £ 500
305 HHAZS 1,000 1,000 0
01 HHAI2S 1,000 1,000 0
ONSx Saxia 500,0008 * 23] 1,000
HsAHLH &X 8,400 0 8,400
= 6.000
[ 1,200
z 1,200
402 DIZHRHE0| A 8,400 0 8,400
= 6,000
[ 1,200
o 1,200
01 Q2R 8,400 0 8,400
OZAJIY HsAHY &3
8.400,0002 * 17} 8,400
= 6.000
[ 1,200
2 1,200
JEHs SEH 24,300 20,300 4,000
= 11,000
2 13,300
PNV 2,300 2,300 0
201 YEt2 2,300 2,300 0
01 AlR22| 2,300 2,300 0
osee 2,300
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SN BHETAYL
HH: HHRSAFH(FZLTAMYD)
Sl QIS UH(BPLTAYL) SRE
_ _ _ Muo
SN EB -GS - MBAY - BES arey i =
-5t 30,0008 * 4% * 13l 120
-2 9 4,002 * 4% * 23] 32
-0t & 5t 20,0002 * 4% * 13l 80
-~ EOIA S 6.0002 * 4% « 123l 2883
D=L (BY LT A 4) 48,656 28,492 20, 164
p[CETICEPA-Y\-PY 48,656 28,492 20, 164
201 LByl 41,546 23,002 18,454
01 ALRelt] 40,884 22,624 18,260
o124+ 16,848
OJl=a 5,616
ouersz 1,020
-syue 15,0002 * 12 « 128 180
EINNE 13,0002 * 55 * 128 780
R 5.0008 * 1% « 128 60
oY=y 50,0002 * 38 * 1162 17,400
2 222 662 468 194
ORB23 662
202 01t 2,160 2,160 0
01 2Uhoit] 2,160 2,160 0
OBZLTAIYA I 27 2,160
203 AR =Y 4,950 3,240 1,710
02 BEIIMAREY] 1,116 540 576
OXE ADIZE By
40,0002 * 312 » 90/100 1,116
M EASYAREY 3,834 2,700 1,134
OBILTAYL RASHAREY|
355,00020 * 128 * 90/100 3,834
HEES (BY+TAL L) 950,000 1,550,000 400,000
TESEPEICEES-IN-PY 950,000 1,550,000 400,000
TSI 950,000 1,550,000 400,000
701 JIEEIH T ES 950,000 1,550,000 400,000
01 JIEFIHTES 950,000 1,550,000 400,000
OM4+TASSHH HES 650,000
O+ZNHSBEN MBS 300,000
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